Conformally flat Lorentzian manifolds with special holonomy

Anton S. Galaev

November 18, 2010

Abstract

Connected holonomy groups of conformally flat Lorentzian manifolds are classified. It is shown that among conformally flat Lorentzian manifolds there are two classes of spaces with special holonomy: pp-waves with a certain potential and some spaces with the holonomy group Sim(n), the local structure of these spaces is found.

1 Introduction and the main result

It is known [10] that a conformally flat Riemannian manifold is either a product of two spaces of constant sectional curvature, or it is a product of a space of constant sectional curvature with an interval, or its restricted holonomy group is the identity component of the orthogonal group. The last condition represents the general case and among various manifolds satisfying the last condition one can emphasize only the spaces of constant sectional curvature.

In the case of pseudo-Riemannian manifolds can appear an additional possibility for the holonomy group. Namely, the holonomy group can be weakly irreducible (this means that it does not preserve any non-degenerate proper vector subspace of the tangent space) and not irreducible in the same time, i.e. it may preserve a degenerate vector subspace of the tangent space.

The main result of the present paper is the complete local description of conformally flat Lorentzian manifolds (M, g) with weakly irreducible not irreducible holonomy groups. Let dim M = n + 2. The holonomy algebra (i.e. the Lie algebra of the holonomy group) $\mathfrak{g} \subset \mathfrak{so}(1, n + 1)$ of such manifold preserves an isotropic line of the tangent space (identified with the Minkowski space $\mathbb{R}^{1,n+1}$). Hence \mathfrak{g} is contained in the maximal subalgebra of $\mathfrak{so}(1, n + 1)$ preserving an isotropic line. This algebra is denoted by $\mathfrak{sim}(n)$ and it admits the decomposition

$$\mathfrak{sim}(n) = (\mathbb{R} \oplus \mathfrak{so}(n)) \ltimes \mathbb{R}^n$$

Manifold (M, g) with such holonomy algebra admits (locally) a distribution of isotropic lines and they are called the Walker manifolds. On such manifold there exist the so called Walker coordinates $v, x^1, ..., x^n, u$ and the metric g has the form

$$g = 2dvdu + h + 2Adu + H(du)^2,$$
(1)

where $h = h_{ij}(x^1, ..., x^n, u)dx^i dx^j$ is an *u*-dependent family of Riemannian metrics, $A = A_i(x^1, ..., x^n, u)dx^i$ is an *u*-dependent family of one-forms, and *H* is a local function on *M* [11]. The vector field ∂_v defines the parallel distribution of isotropic lines.

Theorem 1 Let (M,g) be a conformally flat Lorentzian manifold of dimension $n + 2 \ge 4$. Then the holonomy algebra \mathfrak{g} of (M,g) is weakly irreducible and not irreducible if and only if one of the following holds:

1) $\mathfrak{g} = \mathbb{R}^n \subset \mathfrak{sim}(n)$, i.e. (M, g) is a pp-wave, and locally there exist coordinates $v, x^1, ..., x^n, u$ and a function a(u) such that

$$g = 2dvdu + \sum_{i=1}^{n} (dx^{i})^{2} + a(u) \sum_{i=1}^{n} (x^{i})^{2} (du)^{2},$$

and $a(u) \neq 0$ for some system of coordinates;

2) $\mathfrak{g} = \mathfrak{sim}(n)$ and locally there exist coordinates $v, x^1, ..., x^n, u$ and functions $a(u), B_i(u), C_i(u), D(u)$ such that

$$g = 2dvdu + \sum_{i=1}^{n} (dx^{i})^{2} + 2Adu + (vH_{1} + H_{0})(du)^{2},$$

where

$$A = A_i dx^i,$$

$$A_i = \frac{1}{4} \left(2B_j(u)x^j x^i - B_i(u) \sum_{j=1}^n (x^j)^2 \right),$$

$$H_1 = B_j(u)x^j,$$

$$H_0 = \frac{1}{16} \sum_{k=1}^n B_k^2(u) \sum_{i,j=1}^n (x^i x^j)^2 + a(u) \sum_{i=1}^n (x^i)^2 + C_i(u)x^i + D(u),$$

and $\sum_i B_i^2(u) \neq 0$ for some system of coordinates.

The Ricci operator of the first metric has the form

$$\operatorname{Ric} = \frac{1}{2}a(u)\partial_v \otimes du,$$

in particular, $\operatorname{Ric}^2 = 0$.

In [3] complete conformally flat Lorentzian manifolds (M, g) satisfying the condition

$$[R(X,Y),\operatorname{Ric}] = 0. \tag{2}$$

are studied. It is shown that these manifolds are exhausted by the spaces of constant sectional curvature, by the products of two spaces of constant sectional curvature, and by products of spaces of constant sectional curvature with intervals.

The Ricci operator of the first metric obtained in this paper satisfies (2), but the metric is not complete [6], i.e. the assumption of completeness in [3] is essential.

For the second metric it holds $\operatorname{Ric}^2 \neq 0$ and $\operatorname{Ric}^3 = 0$. Condition (2) is not satisfied.

In [4] pseudo-Riemannian conformally flat manifolds (M, g) satisfying (2) are studied. It is shown that in addition to the obvious cases, (M, g) may be a complex sphere or a space satisfying $\operatorname{Ric}^2 = 0$. Various examples of conformally flat manifolds with $\operatorname{Ric}^2 = 0$ are constructed in [5].

Remark that an important fact is that a simply connected conformally flat spin Lorentzian manifold admits the spaces of conformal Killing spinors of maximal dimension [1].

2 Decomposability of conformally flat pseudo-Riemannian manifolds

In [10] Kurita proved the following theorem for the case of Riemannian manifolds.

Theorem 2 Let (M, g) be an n-dimensional conformally flat Riemannian manifold. Then its local restricted holonomy group H_x ($x \in M$) is in general SO(n). If $H_x \neq$ SO(n), then for some coordinate neighborhood U of x one of the following holds:

- 1) H_x is identity and the metric is flat in U;
- 2) $H_x = SO(k) \times SO(n-k)$ and U is a direct product of a k-dimensional manifold of constant sectional curvature K and an (n-k)-dimensional manifold of constant sectional curvature -K $(K \neq 0);$
- 3) $H_x = SO(n-1)$ and U is a direct product of a straight line (or a segment) and an (n-1)-dimensional manifold of constant sectional curvature.

We generalize this theorem for the case of pseudo-Riemannian manifolds. We also make it more precise.

Theorem 3 Let (M, g) be a conformally flat pseudo-Riemannian manifold of signature (r, s) with the restricted holonomy group $\operatorname{Hol}^{0}(M, g)$. If (M, g) is not flat, then one of the following holds:

- 1) $\operatorname{Hol}^{0}(M, g) = \operatorname{SO}(r, s);$
- 2) $\operatorname{Hol}^{0}(M,g)$ is weakly irreducible and not irreducible (in particular, it preserves a degenerate subspace of the tangent space);
- 3) $\operatorname{Hol}^{0}(M,g) = \operatorname{SO}(r_{1},s_{1}) \times \operatorname{SO}(r-r_{1},s-s_{1})$ and each point $x \in M$ has a neighborhood that is either flat or it is a product of a pseudo-Riemannian manifold of constant sectional curvature K and signature (r_{1},s_{1}) and a pseudo-Riemannian manifold of constant sectional curvature -K $(K \neq 0)$ and signature $(r-r_{1},s-s_{1})$;
- 4) $\operatorname{Hol}^{0}(M,g) = \operatorname{SO}(r-1,s)$ (resp., $H_{x} = \operatorname{SO}(r,s-1)$) and each point $x \in M$ has a neighborhood that is either flat or it is a product of a pseudo-Riemannian manifold of constant sectional curvature and signature (r-1,s) (resp., (r,s-1)) and the space $(L,-dt^{2})$ (resp., (L,dt^{2})), L is the straight line or a segment.

Proof. Let (M, g) be a pseudo-Riemannian manifold of signature (r, s) and dimension d = r+s. The vector bundle $\mathfrak{so}(TM)$ of skew-symmetric endomorphisms of the tangent bundle TM can be identified with the space of bivectors $\wedge^2 TM$ in such a way that

$$(X \wedge Y)Z = g(X, Z)Y - g(Y, Z)X$$

for all vector fields X, Y, Z on M. The Weyl tensor W of the pseudo-Riemannian manifold (M, g) is defined by the equality

$$W = R + R_L, \tag{3}$$

where the tensor R_L is defined by

$$R_L(X,Y) = LX \wedge Y + X \wedge LY,$$

$$L = \frac{1}{d-2} \left(\operatorname{Ric} -\frac{s}{2(d-1)} \operatorname{id} \right)$$
(4)

is the Schouten tensor and s is the scalar curvature.

Suppose that the restricted holonomy group $\operatorname{Hol}^0(M,g)$ is not weakly irreducible. The Wu decomposition Theorem [12] states that each point of M has a neighborhood U such that $(U,g|_U)$ is a product

$$(U, g|_U) = (M_1 \times M_2, g_1 + g_2)$$

of two pseudo-Riemannian manifolds (M_1, g_1) and (M_2, g_2) . Let d_1 and d_2 be the dimensions of these manifolds. For the curvature tensors, Ricci operators and the scalar curvatures it holds

$$R = R_1 + R_2$$
, $\operatorname{Ric} = \operatorname{Ric}_1 + \operatorname{Ric}_2$, $s = s_1 + s_2$.

First suppose that $d \ge 4$. In this case W = 0 and we get

$$R_1 + R_2 = -R_L.$$
 (5)

Assume that $d_1 \ge d_2$ and $d_1 \ge 2$. The curvature tensor R_1 can be written in the form $R_1 = W_1 - R_{L_1}$. Considering (5) restricted to TM_1 , we get that $W_1 = 0$ and

$$\frac{1}{d_1 - 2} \left(\operatorname{Ric}_1 - \frac{s_1}{2(d_1 - 1)} \operatorname{id} \right) = \frac{1}{d - 2} \left(\operatorname{Ric}_1 - \frac{s_1 + s_2}{2(d - 1)} \operatorname{id} \right).$$
(6)

If $d_2 \ge 2$, then taking the trace in (6), we get

$$\frac{s_1}{d_1(d_1-1)} = -\frac{s_2}{d_2(d_2-1)}.$$

Substituting this back to (6), we obtain

$$\operatorname{Ric}_{1} = \frac{s_{1}}{d_{1}} \operatorname{id}.$$
(7)

Since s_1 is a function on M_1 and s_2 is a function on M_2 , the both functions must be constant. Next,

$$R_1(X,Y) = \frac{s_1}{d_1(d_1-1)} X \wedge Y.$$
(8)

The same holds for the second manifold. For the sectional curvatures we get

$$k_1 = \frac{s_1}{d_1(d_1 - 1)} = -\frac{s_2}{d_2(d_2 - 1)} = -k_2.$$

If $d_2 = 1$, than (6) is equivalent to (7) and this implies (8). From this and the Schur Theorem it follows that k_1 is constant. If $d_1 = 2$, then the curvature tensor R_1 satisfies $R_1(X, Y) = fX \wedge Y$ for some function f on M_1 . The proof in this case is the same.

If d = 3, then $d_1 = 2$ and $d_2 = 1$. It holds $R = R_1$ and $R_1(X, Y) = fX \wedge Y$ for some function f on M_1 . In this case (M, g) is conformally flat if and only if the Cotton tensor C defined by

$$C(X, Y, Z) = g((\nabla_Z L)X, Y) - g((\nabla_Y L)X, Z)$$

is zero. This implies that f is constant, i.e. (M_1, g_1) has constant sectional curvature.

Now we have to prove that if $\operatorname{Hol}^0(M, g)$ is irreducible, then it coincides with $\operatorname{SO}(r, s)$. Suppose that $\operatorname{Hol}^0(M, g)$ is irreducible and it is different from $\operatorname{SO}(r, s)$ and $\operatorname{U}(\frac{r}{2}, \frac{s}{2})$. Then the manifold is Einstein [2]. Since (M, g) is in addition conformally flat, (M, g) has constant sectional curvature and its connected holonomy group must be either trivial or $\operatorname{SO}(r, s)$, i.e. we get a contradiction. Thus we need only to prove that $\operatorname{Hol}^0(M, g) \neq \operatorname{U}(\frac{r}{2}, \frac{s}{2})$. This will follow from the following (probably known) statement. **Proposition 1** If a pseudo-Kählerian manifold is conformally flat, then it is flat.

Proof. Let (M, g) be a pseudo-Kählerian conformally flat manifold of dimension 2n. Then its curvature satisfies

$$-R(X,Y) = R_L(X,Y) = LX \wedge Y + X \wedge LY.$$

Since R(X, Y) commutes with J, we get

$$g(LX, JZ)Y - g(Y, JZ)LX + g(X, JZ)LY - g(LY, JZ)X$$

= $J(g(LX, Z)Y - g(Y, Z)LX + g(X, Z)LY - g(LY, Z)X).$

Fix a local basis $X_1, ..., X_{2n}$ of vector fields such that $g(X_i, X_j) = \epsilon_i \delta_{ij}$, where $\epsilon_i = \pm 1$. Note that for any vector field it holds $X = \sum_i \epsilon_i g(X, X_i) X_i$. Putting in the above equation $X = \epsilon_i X_i$, $Z = X_i$ and taking the sum over *i*, we get

$$(2d-4)LJY = -J(\operatorname{tr} L)Y.$$

Hence,

$$(2d-4)L = -(\operatorname{tr} L) \operatorname{id} L$$

This implies L = 0, i.e. R = 0. \Box

This proves Theorem 3. \Box

3 The Weyl curvature tensor of Walker metrics

In order to prove Theorem 1 we give some information about the curvature tensor of the Walker metric (1). For the fixed coordinates $v, x^1, ..., x^n, u$ consider the fields of frames

$$p = \partial_v, \quad X_i = \partial_i - A_i \partial_v, \quad q = \partial_u - \frac{1}{2} H \partial_v$$

Consider the distribution $E = \text{span}\{X_1, ..., X_n\}$. From the results of [8] it follows that the curvature tensor R of the metric g can be written in the form

$$R(p,q) = -\lambda p \wedge q - p \wedge \vec{v}, \qquad R(X,Y) = R_0(X,Y) - p \wedge (P(Y)X - P(X)Y),$$

$$R(X,q) = -g(\vec{v},X)p \wedge q + P(X) - p \wedge T(X), \qquad R(p,X) = 0$$

for all $X, Y \in \Gamma(E)$. Here λ is a function, $\vec{v} \in \Gamma(E)$, $T \in \text{End}(E)$ is symmetric, $T^* = T$, R_0 is the family of the curvature tensors of the family of Riemannian metrics h(u), and the tensor $P \in E^* \otimes \mathfrak{so}(E)$ satisfies

$$g(P(X)Y,Z) + g(P(Y)Z,X) + g(P(Z)X,Y) = 0 \text{ for all } X, Y, Z \in \Gamma(E).$$

These element may be found in terms of the coefficients of the metric (1). For example,

$$\lambda = -\frac{1}{2}\partial_v^2 H, \quad \vec{v} = -\frac{1}{2} \left(\partial_i \partial_v H - A_i \partial_v^2 H \right) X_j h^{ij}. \tag{9}$$

The expressions for the other elements are more difficult and we will give them only in some partial cases.

The Ricci operator has the following form:

$$\operatorname{Ric}(p) = -\lambda p, \quad \operatorname{Ric}(X) = g(X, \operatorname{Ric} P - \vec{v})p + \operatorname{Ric}(h)(X), \tag{10}$$

$$\operatorname{Ric}(q) = (\operatorname{tr} T)p + \operatorname{Ric}(P) - \vec{v} - \lambda q, \tag{11}$$

where $\widetilde{\text{Ric}} P = h^{ij} P(X_i) X_j$. For the scalar curvature we get $s = 2\lambda + s_0$, where s_0 is the scalar curvature of h. Using this, we may compute the tensor R_L ,

$$R_L(p,X) = \frac{1}{n} p \wedge \left(\operatorname{Ric}(h) - \frac{(n-1)\lambda - s_0}{n+1} \operatorname{id} \right) X,$$
(12)

$$R_L(p,q) = \frac{1}{n} \left(\frac{2n\lambda - s_0}{n+1} p \wedge q + p \wedge (\vec{v} - \widetilde{\operatorname{Ric}} P) \right),$$
(13)

$$R_L(X,Y) = \frac{1}{n} \left(p \wedge (g(X,v - \widetilde{\operatorname{Ric}} P)Y - g(Y,v - \widetilde{\operatorname{Ric}} P)X) + \left(\operatorname{Ric}(h) - \frac{s}{2(s+1)} \right) X \wedge Y + X \wedge \left(\operatorname{Ric}(h) - \frac{s}{2(s+1)} \right) Y \right),$$
(14)

$$R_{L}(X,q) = \frac{1}{n} \Big((\operatorname{tr} T)p \wedge X + g(X, \vec{v} - \widetilde{\operatorname{Ric}} P)p \wedge q + X \wedge (\vec{v} - \widetilde{\operatorname{Ric}} P) + \Big(\operatorname{Ric}(h) - \frac{(n-1)\lambda - s_{0}}{n+1} \operatorname{id} \Big) X \wedge q \Big).$$
(15)

The Weyl tensor W can be computed using this and (3).

4 Proof of Theorem 1

Suppose that the metric (1) is conformally flat, i.e. W = 0. Using the computations of the previous section, it is easy to show that this is equivalent to the following equations:

$$\lambda = 0, \quad R_0 = 0, \quad P(X) = \vec{v} \wedge X, \quad T = f \operatorname{id}_E, \tag{16}$$

where f is a function. In particular, it holds $\widetilde{\text{Ric}} P = -(n-1)\vec{v}$. Since $R_0 = 0$, each metric in the family h is flat, hence, changing the coordinates, we may assume that

$$h = \delta_{ij} dx^i dx^j.$$

From (9) and the equality $\lambda = 0$ it follows that $\partial_v^2 H = 0$, hence

$$H = vH_1 + H_0, \quad \partial_v H_1 = \partial_v H_0 = 0.$$

Using (9), we get

$$\vec{v} = -\frac{1}{2}\partial_i H_1 \delta^{ij} X_j$$

For the case of h independent of u the curvature tensor of the metric (1) is computed in [9]. Let $P(X_k)X_j = P_{jk}^i X_i$ and $T(X_j) = \sum_i T_{ij}X_j$. Then

$$P^i_{jk} = R^i_{jkq}, \quad T_{ij} = -R^i_{qjq},$$

Using the computations from [9], for our metric we obtain

$$P_{jk}^{i} = \frac{1}{2} \partial_{k} F_{ij},$$

$$T_{ij} = -\frac{1}{2} \partial_{i} \partial_{j} (vH_{1} + H_{0}) + \frac{1}{4} \sum_{k} F_{ik} F_{jk} + \frac{1}{4} H_{1} (\partial_{i} A_{j} + \partial_{j} A_{i}) + \frac{1}{2} (A_{i} \partial_{j} H_{1} + A_{j} \partial_{i} H_{1}),$$
(17)
(18)

where

$$F_{ij} = \partial_i A_j - \partial_j A_i$$

is the differential of the 1-form A.

Consider the following two cases:

- 1) $\vec{v} = 0$ for any coordinate system;
- 2) $\vec{v} \neq 0$ for some coordinate system.

Case 1). We have $\vec{v} = 0$ for any coordinate system. Then the curvature tensor satisfies R(E, E) = 0. Consequently, (M, g) is a pp-wave (see e.g. [7]), i.e. locally g can be written in the form

$$g = 2dvdu + \sum_{i=1}^{n} (dx^{i})^{2} + H(du)^{2}, \quad \partial_{v}H = 0$$

i.e. $A = 0, H_1 = 0$, and $H_0 = H$. We obtain the equation

$$f\delta_{ij} = -\frac{1}{2}\partial_i\partial_j H_0.$$

Taking the trace, we may find f, and we obtain

$$\frac{1}{n}\Delta H_0 \delta_{ij} = \partial_i \partial_j H_0. \tag{19}$$

The general solution of this equation has the form

$$H_0 = a(u) \sum_{i=1}^n (x^i)^2 + C_i(u)x^i + D(u).$$

Using some transformations of coordinates, we get

$$H_0 = a(u) \sum_{i=1}^n (x^i)^2.$$

Case 2). Suppose that $\vec{v} \neq 0$. Since $P(X) = \vec{v} \wedge X$, we get

$$P_{jk}^i = \delta_{ki} \vec{v}_j - \delta_{kj} \vec{v}_i,$$

where $\vec{v} = \sum_j \vec{v}_j X_j$. We obtain the system of equations

$$\partial_k F_{ij} = -\delta_{ki} \partial_j H_1 + \delta_{kj} \partial_i H_1. \tag{20}$$

These equations can be rewritten in the form

$$\partial_i(\partial_k A_j - \delta_{kj}H_1) - \partial_j(\partial_k A_i - \delta_{ki}H_1).$$

This system of equation is equivalent to

 $dG^k = 0,$

where we define the 1-forms

$$G^k = G^k_i dx^i, \quad G^k_i = \partial_k A_i - \delta_{ki} H_1$$

We conclude that there exist functions f^k such that

$$G_i^k = \partial_i f^k.$$

Our system of equations takes the form

$$\partial_k A_i - \delta_{ki} H_1 = \partial_i f^k.$$

This implies

$$F = dA = -df$$
, where $f = \sum_{k} f^{k} dx^{k}$

and

$$A = -f + d\varphi$$

for some function φ . Since $\partial_v^2 H = 0$, the gauge transformation

$$v \mapsto v - \phi$$

changes the metric in the following way [9]:

$$A \mapsto A + d\phi, \quad H_1 \mapsto H_1, \quad H_0 \mapsto H_0 + H_1\phi + 2\partial_u\phi.$$
 (21)

Hence, changing the coordinates, we get dA = -df. Our equations take the form

$$\partial_i A_j + \partial_j A_i = \delta_{ij} H_1. \tag{22}$$

Conversely, this system of equations implies (20).

Consider now (18). Since $T_{ij} = f \delta_{ij}$ for some function f, we get that $f = v f_1 + f_0$, where $\partial_v f_1 = \partial_v f_0 = 0$. Applying ∂_v to (18), we get

$$f_1\delta_{ij} = -\frac{1}{2}\partial_i\partial_j H_1.$$

Taking the trace, we get $f_1 = -\frac{1}{2n}\Delta H_1$, where Δ is the Euclidean Laplacian. We get the equation

$$n\Delta H_1\delta_{ij}=\partial_i\partial_jH_1.$$

Clearly, this implies

$$H_1 = a(u) \sum_i (x^i)^2 + B_i(u)x^i + c(u).$$

From (22) it follows that for each i it holds

$$\partial_i A_i = \frac{1}{2} H_1.$$

Integrating this equation, we get

$$A_{i} = \frac{1}{2} \left(a(u)x^{i} \sum_{j \neq i} (x^{j})^{2} + \frac{a(u)}{3} (x^{i})^{3} + \sum_{j \neq i} B_{j}(u)x^{j}x^{i} + \frac{B_{i}(u)}{2} (x^{i})^{2} + c(u)x^{i} + c_{i}(x^{k}, u) \right), \quad \partial_{i}c_{i} = 0$$

Let $i \neq j$. Substituting the obtained A_i to (22), we get

$$4a(u)x^{i}x^{j} + B_{j}(u)x^{i} + B_{i}(u)x^{j} + \partial_{j}c_{i} + \partial_{i}c_{j} = 0.$$

Applying ∂_i , we get

$$4a(u)x^j + B_j(u) + \partial_i^2 c_j = 0.$$

Applying ∂_j , we get a(u) = 0. We conclude that

$$\partial_i^2 c_j = -B_j(u), \quad \partial_j c_j = 0.$$

This implies

$$c_j = -\frac{B_j(u)}{2} \sum_{k \neq j} (x^k)^2 + d_{jk}(u)x^k + f_j(u), \quad d_{jj}(u) = 0.$$

Using (22) for $i \neq j$, we get

$$d_{ij}(u) = -d_{ji}(u).$$

Thus,

$$H_1 = B_i(u)x^i + c(u), (23)$$

$$A_{i} = \frac{1}{2} \left(B_{j}(u) x^{j} x^{i} - \frac{B_{i}(u)}{2} \sum_{j} (x^{j})^{2} + c(u) x^{i} + d_{ik}(u) x^{k} + f_{i}(u) \right).$$
(24)

Since $\vec{v} \neq 0$, it holds

$$\sum_{j} B_j^2(u) \neq 0.$$

Consider the coordinate transformation with the inverse one

$$v = \tilde{v}, \quad x^i = \tilde{x}^i + b^i(\tilde{u}), \quad u = \tilde{u}$$

such that $B_i(u)b^i(u) + c(u) = 0$. After that $H_1 = B_i(u)x^i$, i.e. we may assume that c(u) = 0. Next, consider the coordinate transformation with the inverse one

$$v = \tilde{v}, \quad x^i = A^i_j(\tilde{u})\tilde{x}^j, \quad u = \tilde{u},$$

where $A_j^i(u)$ is a family of orthogonal matrices. It is easy to check that

$$\tilde{H}_1 = B_i(u)A_j^i(u)\tilde{x}^j, \quad \tilde{A}_i = \sum_k A_i^k(u)(\partial_u A_l^k(u))\tilde{x}^l + A_i^k(u)A_i.$$

The obtained metric has the same form and it holds

$$\tilde{B}_{i}(u) = B_{j}(u)A_{i}^{j}(u), \quad \tilde{d}_{ij}(u) = \sum_{k} A_{i}^{k}(u)\partial_{u}A_{j}^{k}(u) + \frac{1}{2}A_{i}^{r}(u)d_{rk}(u)A_{j}^{k}(u), \quad \tilde{f}_{i}(u) = A_{i}^{k}(u)f_{k}(u).$$

Consider the equation $\tilde{d}_{ij}(u) = 0$. Since $\sum_k A_i^k(u) A_j^k(u) = \delta_{ij}$, it can be written in the form

$$\partial_u A_i^k(u) = A_i^j(u) \frac{1}{2} d_{jk}(u).$$

Since $d_{jk}(u)$ is skew-symmetric, $\frac{1}{2}d_{jk}(u)$ is a curve in the Lie algebra $\mathfrak{so}(n)$. Then $A_i^k(u)$ satisfying the above equation is nothing else es the development of the curve $\frac{1}{2}d_{jk}(u)$ in the Lie group SO(n). Thus, applying such transformation, we may assume that $d_{ij}(u) = 0$. Applying (21), we may assume that $f_i(u) = 0$. Thus,

$$H_1 = B_i(u)x^i, \quad A_i = \frac{1}{2} \left(B_j(u)x^jx^i - \frac{B_i(u)}{2} \sum_j (x^j)^2 \right).$$

Note that

$$F_{ij} = B_i(u)x^j - B_j(u)x^i$$

and (22) holds. The equation $T_{ij} = f \delta_{ij}$ takes the following form:

$$f_0 \delta_{ij} = -\frac{1}{2} \partial_i \partial_j H_0 + \frac{1}{4} \sum_k B_k^2(u) x^i x^j + \frac{1}{4} H_1^2 \delta_{ij}.$$

It can be rewritten in the form

$$\frac{1}{n}\left(-\frac{1}{2}\Delta H_0 + \frac{1}{4}\sum_k B_k^2(u)\sum_l (x^l)^2\right) = -\frac{1}{2}\partial_i\partial_jH_0 + \frac{1}{4}\sum_k B_k^2(u)x^ix^j.$$

Clearly, the function

$$H_0 = \frac{1}{16} \sum_{k=1}^n B_k^2(u) \sum_{i,j=1}^n (x^i x^j)^2$$

is a partial solution of this equation. On the other hand,

$$a(u) \sum_{i=1}^{n} (x^i)^2 + C_i(u)x^i + D(u)$$

is the general solution of the corresponding homogeneous system.

Let us compute the holonomy algebra of the obtained metric. Let $x \in M$ be a point such that $\vec{v}_x \neq 0$. The condition on the curvature tensor shows that

$$R_x(p_x, q_x) = -p_x \wedge \vec{v}_x, \quad R_x(X, Y) = p_x \wedge ((X \wedge Y)\vec{v}_x).$$

This shows that $p_x \wedge E_x \subset \mathfrak{g}$. Next,

$$R_x(\vec{v}_x, q_x) = -g(\vec{v}_x, \vec{v}_x)p_x \wedge q_x - p_x \wedge T_x(\vec{v}_x)$$

which implies $\mathbb{R}p_x \wedge q_x \subset \mathfrak{g}$. Finally,

$$R_x(X, q_x) = -g(\vec{v}_x, X)p_x \wedge q_x + \vec{v}_x \wedge X - p_x \wedge T_x(X).$$

Since the bivectors of the form $\vec{v}_x \wedge X$ generate the Lie algebra $\mathfrak{so}(E_x)$, we conclude that

$$\mathfrak{g} = \mathbb{R}p_x \wedge q_x + \mathfrak{so}(E_x) + p_x \wedge E_x \simeq \mathfrak{sim}(n).$$

This proves the theorem. \Box

References

- H. Baum, Conformal Killing spinors and the holonomy problem in Lorentzian geometry

 a survey of new results. Symmetries and overdetermined systems of partial differential equations, 251–264, IMA Vol. Math. Appl., 144, Springer, New York, 2008.
- R. Bryant, Classical, exceptional, and exotic holonomies: a status report. Actes de la Table Ronde de Géométrie Différentielle (Luminy, 1992), Semin. Congr., 1, Soc. Math. France, Paris (1996), 93–165.

- [3] M. Erdogan, T. Ikawa, On conformally flat Lorentzian spaces satisfying a certain condition on the Ricci tensor. Indian J. Pure Appl. Math. 26 (1995), no. 5, 417–424.
- [4] K. Honda, Conformally flat semi-Riemannian manifolds with commuting curvature and Ricci operators. Tokyo J. Math. 26 (2003), no. 1, 241–260.
- [5] K. Honda, K. Tsukada, Conformally flat semi-Riemannian manifolds with nilpotent Ricci operators and affine differential geometry. Ann. Global Anal. Geom. 25 (2004), no. 3, 253–275.
- [6] V. E. Hubeny, M. Rangamani, *Causal structures of pp-waves*. J. High Energy Phys. 2002, no. 12, 043, 40 pp.
- [7] A. S. Galaev, T. Leistner, Holonomy groups of Lorentzian manifolds: classification, examples, and applications, Recent developments in pseudo-Riemannian geometry, 53–96, ESI Lect. Math. Phys., Eur. Math. Soc., Zürich, 2008.
- [8] A. S. Galaev, The spaces of curvature tensors for holonomy algebras of Lorentzian manifolds, Diff. Geom. and its Applications 22 (2005), 1–18.
- [9] G. W. Gibbons, C. N. Pope, Time-Dependent Multi-Centre Solutions from New Metrics with Holonomy Sim(n-2), Class. Quantum Grav. 25 (2008) 125015 (21pp).
- [10] M. Kurita, On the holonomy group of the conformally flat Riemannian manifold. Nagoya Math. J. 9 (1955), 161–171.
- [11] A. G. Walker, On parallel fields of partially null vector spaces, Quart. J. Math., Oxford Ser., 20 (1949), 135–145.
- [12] H. Wu, On the de Rham decomposition theorem. Illinois J. Math. 8 (1964), 291–311.